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Multiplikationsiibungen (4-er) Name:
L 0se jede Aufgabe.
5e4= 204= led4= 9e4=
6e4= 104=_ 3e4=_ 7«4=
4e4=_ 8ed= 2¢4= 3e4=_
10«4=_ 8ed= 7e4=_ led4=_
Ge4= 9e4= 6e4= 4ed=
3e4= 4e4= 7e4= 10+4=
6e4= 9e4= 8ed= led4=
5e4= 204=_ 7e4= 3e4=
led4= 204=_ 5e4= 6e4=
8ed= 9e4=_ 10e4= 4ed=
6e4= 9e4= l1ed4= 204=
3e4= 7e4= 5e4= 8ed4=
10«4=_ 4e4= 4e4= 4.10=
4e2=_ 4e7=_ 4el= 4e5=_
4e6=__ 49=_ 48=_ 4¢3=_
49=_ 4el=_ 4e5=_ 4¢8=_
4.10=_ 4e2=_ 4ed4=_ 4¢3=_
4¢6=_ 4¢7= 4¢1= 4e6=_
4¢8= 4¢7= 4¢5= 409=
4¢3= 4¢10= 4¢2=_ 4e4=_
4¢6=_ 4¢3= 4¢10= 4ed=
49= 4¢2=_ 4e¢7=_ 4e1=
4¢8= 4¢5= 4¢3= 4e1=
4e2= 4.10= 4.8= 4e5=
4e7=_ 4e6=__ 4ed= 4e9=
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Multiplikationsiibungen (4-er)

Name:

L dsungsschllisse

L 0se jede Aufgabe.
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